Roll No. | Tl f | Answer Sheet No.
L 1

Sig. of Candidate. Sig. of

Invigilator.

.........................................................................................................................................................................

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i) Which year was Dr. Abdus Salam awarded Nobel Prize?

A 1960 A D B. 1979 AD C. 1969 A.D D. 1978 AD
(i) System International consists of basic units.

A. 3 B. 5 C 7 D. 9
(i) Rate of change of velacity is known as

A Displacement B. Acceleration  C. Distance D. Relative Velocity
(iv) The weight of a body of 20 kg mass is Newton on earth.

A 2 B. 10 C. 20 D. 200
(v} The decomposition of a vector into two or mere components is called of vector.

A Resolution B. Addition C. Subtraction D. Multiplication
{vi} According to the first candition of equilibrium

A ¥T=0 B. Y F=0 C. Y Fy=0 D. Y Fy=0

(vii) A satellite is revolving around the earth in a circular orbit. If the radius of the orbit is increased

from R to 2R, what will be its velocity?

A. 2v B. v C. v D. F\}/:
(vii)  What is the unit of Power in System International? 2

A Newton - B. Watt C. Joule D. Metre
{ix) The ratio of load and effort is called of any machine.

A. Mechanicai advantage B. In put

C Out put D. Efficiency
(x) Viscaosity of which of the following will be maximum?

A Water at 20°C B. Honey at 20°C

C. Water at 90°C D. Honey at 90°C
(xi) When water changes into ice, it

A Contracts B. Expands

C. Becomes more dense D. Remains the same
{xii) The art of measuring temperature is called

A Convection B. Conduction  C. Thermometry D Nane of these
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Time allowed: 2:40 Hours

PHYSICS SSC-|

Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers

neatly and legibly.

Note:

SECTION ~ B (Marks 33)

Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines.

i) A body is moving with a uniform velocity. What will be its acceleration?

i) What is the use of Vernier Calipers? What is meant by its Vernier Constant?

(11x3=33)

i) If a moving body has no acceleration, does it mean that no force is acting on it?

V) Which are those two vectors whose resuitant vector is zero?

i) Under what conditions the distance and displacement between two points will be equal?

{
(
(
{iv) Why it is hard to stop fast moving and heavy vehicles?
(
(
{

vii) How do we know whether a body is in a stable or unstable state of equilibrium due to the position of its

centre of gravity?
(viil) Explain briefly Centrifugal force.

(ix) What is the Law of Conservation of Energy?

(x) A labour pushes a box to a distance of 20m. If the force required to push the box is 25N, what will

be the quantity of work done?
(xi) Define the following :

a. Effort Arm b. Load Arm C. Efficiency
(xii) What is meant by the surface tension of liquid?
{xii)  Why one end of beam is placed on rollers while constructing bridges?
(xiv)  Why does tea in a cup become cold earlier as compared to tea pot?
(

xv) Describe the different stages of scientific method.

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)

a. What is meant by Proportionality Constant? Explain by giving an example. (03)
b. Prove that S=v,‘t+;at2 (4}
c. A fast moving car is moving on a straight road with an acceleration of2ms™ . How much time

will it require to change the velacity from 20 ms™ to 40ms™? (03)

Explain Subtraction of vectors with cne example. (04)
b. What is meant by Equilibrium? Describe the conditions of equilibrium. (03)
c. Define Energy. Also describe the basic kinds of energy. (03)
a. State the Principle of Lever and find its Mechanical Advantage. (04)
b. What is Hocke's Law? Does an object remain elastic beyond elastic limit? Explain. {03}
c. Define the following:

(1) Conduction (i) Convection (iii) Radiation (03)
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i Answer Sheet No.

Sig. of Invigilator.

...........................................................................................................................................................................

PHYSICS SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

(i) How many nuclear experiments were carried out by Pakistan in 1998 AD at Chaghi?
A 5 B 6 C. 7 D. 8
(i One kilometre has metres.
A 1000 B. 2000 C. 100 D. 500
(iii) The velocity and acceleration of a body maoving with uniform speed in the circular path willbe _______
A In the same direction B. In the opposite directions
C. Mutually perpendicular D. Equal
(iv) The acceleration produced in a moving body is always in the direction of applied
A Velocity B. Force C. Speed D. Momentum
{v) Temperature is a quantity.
A Vector B. Scalar C. Positive D. Negative
(vi) In equilibrium state, the resuftant of all the forces and all torques on a body is
A Double B. Zero C. 3times D. 4 times

(vil) A 2 kg object is moving in a circle with a speed of 4ms . If the radius of the circle is 1m, what will be the

value of the centripetal force acting on the object?

A 8N B. 16N C 32N D. 64N
(vili}  What will be power of a machine which is doing 10J work in 5 seconds?

A 2 Watt B. 10 Watt C. 25 Watt D. 50 Watt
{ix) The Mechanical Advantage of a single movable pulley is

A 1 B. 2 C. 3 D. 4
{x) At what temperature the surface tension of liquid will be maximum?

A 0°C B. 100°C C. 20°C D. 50°C
{xi) Water contracts from ____ then expands.

A 0°C to 4°C B. 3°Cto 4°C C. 2°C to 4°C D. 5°Cto 6°C
(xii) What is the cause of land and sea breeze?

A Greater specific heat of water B. Less specific heat of water

C. Low freezing point of water D. High boiling point of water
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PHYSICS SSC-|

Time aliowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION -- B (Marks 33}

Q.2 Answer any ELEVEN parts. The answer to each part should note exceed three to four lines.( 11 x 3 =33}

)

Note:

Q.3 a.

What is meant by Proportionality Constant?

A body is moving with a uniform speed. Will its velocity be uniform?

If a car moves forward with some acceleration, then in which direction the friction will act on a box lying
on the floor of the car?

Under what condition the sum of three vectors will be zero?

Define Force and its unit.

Describe the method of addition of two vectors which are in different directions.

Can a body be in equilibrium if it is revolving clockwise under the action of a single torque?
State the Law of Gravitation.

Define Power and write its units.

A ball of mass 200 g was thrown vertically upto a height of 15 m. Find the change in the
gravitational potential energy of the ball.

Define the following:

a. Effort b. Load C. Output

Explain under what conditions the objects float on water surface and get submerged in water.
What is the reason for blowing of sea breeze blow in day time and land breeze at night in the
coastal areas?

What is meant by Absolute Zero?

Write down the importance of acquiring the knowledge of science and technology in the light
of the Holy Quran.

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x10=20)
State Newton's Second Law of Motion. Also prove that F=ma. (4)
Prove the First equitation of Motion v, = v, + at : (3)

A car having a mass of 1500 kg was moving with a velocity of 72 kmb
It was stopped in 5 seconds by applying the brakes. What is its average acceleration? (3)

What is Resolution of vector? Find the x and y components of a resultant vector F which are

lying at an angle & with x-axis. ° (5)
Explain the Law of Conservation of Energy. (5)
State Pascal's Law. Describe its advantages in everyday life. (4)
What is meant by an inclined plane? Find its Mechanical Advantage. (4)
State Gas laws. (2)
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